
1651 12

(a') urtrtrrrt +tr6 fffr wr ts? aq<l-{Fm q1F6 ffh

3qr+ d rgrs frirrdr* ntt qna { s<* orgffi- w

qqi ott

(re) ee *t fr' qlF6 ftR ffiur q ffi ++ \'6 "'*ni 
)

d r*tn Br

[This question paper contains 12 printed pages.]

Sr. No. of Question Paper

Unique Paper Code

Name of the Paper

)' Name of the Course

Semester

Duration : 3 Hours

Your Roll No..,............

16sl H

12277606

Money & Financial Markets

B.A. (Hon s.) Economics

VI

Maximum Marks : 75

Instructions for Candidates

l. Write your Roll No. on the top immediately on receipt

of this question paper.

2. Attempt any Five questions.

3. The distribution ofthe marks is given with the question.

4. Answers may be written either in English or Hindi;

) but the same medium should be used throughout the

p ape r.

Er++frqfrtgl

1 EiT yQir-c:r + ffi a srr frs rrs fiq1ft6 elra qq slqql

sqmro fttev r

2. Ei€f qiq vr+' * vat frfuq r

P.T.O.(3000)

)



16s1
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(a) Enumerate the new Monetary and Liquidity

aggregates. Explain how they are differentiated

not on the basis of attributes of the instruments

but on the nature and functions of the institutions

issuing such instruments?

(b) Discuss the statement that "Complete Curr€ncy

multiplier determines how much currency holdings

increase due to change in monetary base".

(9+6)

(m) av *tr+- efu ircf,dr {gqq + eft t q* c{ 6r

sdrqr s{rflg fr Te sq-{i!t fr friwr* * irnm

R Tft dfu't+ 3Tfifr B1 urt 6+ sr& verrct

* e-fR Bfu orff * srnrn qi +t Ettrd frqr uror

*?
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(a) Explain the goals and instruments of monetary

policy in India.

(b) What is flexible inflation targeting in India? Discuss

the Operating framework of monetary policy under

flexible inflation targeting in India. (6+9)

(a) ma t dtro frfr + dd lft: qnrfr d qrcer dftqr

(r+) trrco t d-+dr 3ffis1h dd-6iur er l? qrm + dfr+

nardfr aefi-*-tur + nEd +F+- ffft + cFqrd-{ aA

Yt Tql 6tt

(a) What is unconventional monetary policy?

Discuss the key features of the unconventional

monetary policy measures and their applications

in India.

(b) Explain how Lags can be a constraint in monetary

policy making. (9+6)
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6. (a) In India, banks are the main conduits through which

monetary impulses are transmitted to the real

economy. In this context review the bank's lending

rate system since the early 90s.

(b) Compare and contrast the policy response to the

banking crisis that started in 1997 and in the

aftermath of 2008 Global financial crisis?

(e+6)

(o) qna t, i'o gr* mr< i ftra-d qneq t AF6 inm

qi qt<k6 wri-qqen t ffi't ft-qr dnr *r es rd"i

{ qo * err* d {tart t +6 m gtm et vondt

fr qfiqr qtr
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(re) w mw qt q-qi 6t fr "f"i ga noro e-r ftulRa

q.or ? fr. +86 iilrrR n cpu61 + qnur ffi nn

urfrar a-aft *"r

(a) (i) Explain briefly how the money multiplier can

be made invariant to changes in cash reserve

requirement?

(ii) What happens when banks resort to

discretionary finance from the Central bank

and maintain excess reserves?

(b) Using the money multiplier approach, explain the

money supply response to changes in the following

variables

(i) Fall in (C/DD) ratio

(ii) Fall in (TD/DD) ratio

)
2
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(iii) Decline in reserve ratio
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(c) Consider the following data:

Required reserve ratio = 0.20

Excess reserve ratio : 0.05

Deposits = Rs. 400 Billion

(i) What are the total banking system reserves

(required + excess)?

(ii) The Central Bank cuts the required reserve

ratio from 0.20 to 0.15 in order to augment

the liquidity in the system. What will be

the new level of total reserves?

(iii) If the deposits increase from Rs. 400

Billion to Rs 500 billion, what is the amount

of incremental reserves the banking system

needs to maintain the initial required reserve

ratio of 0.2 0? (6+3+6)
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5. (a) Using the loanable funds theory, discuss the

statement "the default risk premium can be

illustrated by the difference between the interest

\ rate for risky loans and the interest rate for default
,

free loans".

(b) Determine the short and long term interest rates

under segmented market hypothesis. What is the

rationale for the hypothesis? (9+6)

(ei) *"r +c ffft fuo qr sq+.r 6d gq, ,Me

*frT ffHqq + iilfr{ * Es} + frv qre et *r
Gvile Xm *"il a ftq Ers et + A-s + Br-dr +

qse Bqr dr q$i *', oq-.r qt s-ci 6t'r

(r+) t<R.r qreR qft6-dr{r * a-ee *& Bfu ilfr BrqE

d q6 6 6'r ftqkq ei'r qftqitr{r ql *futq wr
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of treasury bills that matures in 365 days with a

face value of Rs. 10,000 at the following purchase

pric e s.

(i) Rs. 9500

( ii) Rs. 9000 (7+8)

(o) it ff crqr fr qrm E( ffi *, ce * srm vt ti
rK asr fr+€ fr *rd qq urfr *r scgffi BlEiur

ft BrRe S qrq 6?fi w qd qtr
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ddrs ? +{ <r sqrq +{il( t d{ d? to,ooo w} +

orB-r 1u * qrq sos fr,il q qfun A+ sre igt
ft-"+- + fts Frqftfrf, retq {d qr ,lMd cRs-d

*r qfuffir cfdr-f, fr ry6 6|1
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(o) (i) e&qtqrerdfuqfr'fr-{e-nRTfl !qc'+
r+-E enr'fta 3nqsIrffir + cRr{{T + frS
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(i) EdffirI vqn-& l1sp (unre-o+ uRRt) wr

i?

(ii) il{ t rtdnT €A + ftq +Ac }5 sr+$T6

urilra wgvn d.o.zo t qdF6-t o.ro tF{ tdl

*r E6 *agR 6l 't.rr Rt wr *rnt

(iii) qR vcl nRr aoo ir.d w+ t T666-t soo er(s

{q+ +dr t, iB.{T nvnfr +1 o.zo * vrtF-*

sfud sRkd orgvrr d q-{q r€+ + ftv
snerro Effid trsn * {ft €r *?

(a) "Equity contracts are subject to a particular type

of moral hazard called Principal-Agent problem".

Discuss the above statement and the tools to solve

Principal-Agent Problem.

(b) Consider a put option for a unit of Asset ABC

with a strike price of Rs. 150. If the option price

is Rs.5 and the current price is Rs. 150, contrast

the long put position with the short put position

using a table and graphs. (7+8)
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(m) "rM uXeu s5 fric n-6R + tR-6 €R + a:f{

I frrt ffRrfr-s+c qqst t6-6I urdr A'r 3qtffi 6'T{

g1r: ffRrd-v+. .lsq(ql d ra q"(+ * frs r.r6.ofr

w q-qi etr

(re) rso wi * qrr+ Tg * qrq qR{cfr ABC fr vn

Ea,rS + fts cfi ge E-6-fl q1 ft-qn otr q6 ft*-e

Ts s {qA *r s-+ql{ Tq r5o nc+ *, ilksT d{

ortrq ql 3q+Ir q.li Ss fi't 5e *ftr< * qrq f.rr

Su +fr{T fr ga-+ otr

4 (a) As the market interest rate falls, the price of a

debt instrument sold on discount basis rises.

Discuss the statement with a suitable illustration

and diagram.

(b) Distinguish between discount yield and yield to

maturity? Which is a better measure and why?

Calculate the discount yield and yield to maturity
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